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HARYANA SSC MOCK TEST-9
1.  Pleasure : Sorrow :: Right : 7 1. ¥i:Zm:wdt:?
[A] Wrong [B) Wonderful {A) B) s
(C) Happy [0y Sure A i
3. 49:81:64:7 G . P
A) 36 B 100 2 49:-81 ;164 : 7
L {A] 36 (B 100
) Lad L (C) 121 D] 144
3. |1'IE.I:_‘|:]'IB.1IIL‘DE|I:. I?A.Nlaw.mt:naaﬂlam:l 3. fED ST F= 9 PAN F 31 F w1 8 75 PAR
PAR is coded as 35; what will be the code of F 3 # A .
PAT in the same code ? T35 % ¥ ¥ f7er ¥ TH Tz H PAT 7 i
(A} 30 | 27 FE # AT
(c) 2o D) 41 iA) 30 B 37
4. Decpak is the brother of Naresh and IC} 39 D} 41
Suresh is the father of Deepak. Ramesh is | 4. 9% 7w F1 %8 70 g 3 =1 fod d wm =m
the brother of Anu and Anuis the daughter T 4R ¥ AE s T S0 94 £ W F 9 e
of Naregh. Who is the uncle of Ramesh? e
[A] Deepak [B] Suresh B
(C] Maresh (D} Nonc of these — | _MA) T A S
5. IfNAﬂﬂNJsmdcdaajﬁ?ﬂaiEud_EﬁRﬂm = - C)Hm (D) ¥ & ¥ W
coded as 1654, then A be {5 9% NATION ¥ 467234 % =9 # Fifed ¥ £,
coded as ! Teg 'EARN # 1654 % =3 ¥ Fifzd @ 7, @
(A) 432769561 'ATTENTION' T %z #mm:
(€] 766412743 (A} 432769561 (B 956143654
6. Armange the give : i ﬁ?‘i‘ 14?:534
logical order and -
sequence from the
1. Destination
3. Boarding
5. Planning :
[A) 1,2,3,. 4.5
7.
10 :
(A} 4 B 5
<) & oy 7 A 4+ B 3
8. If ‘blue’ means ‘green’, ‘green’ means IC] & ) m7
‘white’, ‘white’ means yellow', ‘yellow® | 8. 30 =57 78 'To', 'T0' T =8 ‘o’ 'awd T
means black’, ‘black’ means ‘Ted’ and Ted” R R e B R
means ‘brown’, then what ia the colour of e A ‘mi"'ﬁ'* LECES 1 =
milk * '
[A] Green [B] Browm IA) T B "m
(€] Blue (D) Yellow (C) e D) W
9.  Find the number of triangles in the given | 9. 79 7 {93 4 fau= 1 5em @@ w40
figure.
A 21 B 23
[A] 21 B 23 [C) 25 D) 27
c] 25 [ 27
|
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10. Paper:Pen::? 10. Fpra : Hod 1 7
[A) Pencil : paper [B] Lead : Pencil (A) e (B) = :
[C] Paper : Pencil [D} Ink : Pen . A -
11. Pointing towards a pcrson, a man said to a () SR o) : i ;
women, “His mother is the only daughter | !1- UF HiE R s wE T Y uF AT 7 O
of vour Father”. How is the woman related Wi | FAy " IEF H TEd o = e 98 6
to that person P =F HlEm T9 = § B gEnE £
[A) Daughter [B] Sister o
A) == =T
{C) Mother O} Wife (A) - ) w5
12. The position of how many letters in the word Ic) = ) )
WONDERFUL' will remain unchanged when | 12, 'WONDERFUL' w= F 37 {FA7 ;e =+ foofa
the letters within the word are arranged quER W T4 B o v § aEd &) SgEs
siphrbeticallye =EfeR fFm w87
[A] One [B] Two — 2
[C) Three O} None ) i‘%ﬂ' % &
13. In the given options, three are alike in i<l o) #r
some manner while the fourth one is | 13. 9 f3v 7o fo=eqi |, &= fF6 oF v 3@ @
different. Choose the odd one: - _HHE ¥ <A Hiem =@n &) FEE e T
[A) Birbal : == |5l mede =T =
{C) Faiz Ahmed } (A =l & i
14. WAB, XCD, YEF, ? A il e
[A] CMN 14, WAR, XCD, YEF, ?
(C) BKL B 2GH
153, Peter walked 8 H
turned right and w # 7w = qa
he turned right an I gz § T
far is he from the § 3 3
; & T T E7
[A) 7 kms . T
(C) 4 kms
16.. Ifa man sclls b : 7 = . o
lose 25%. To g 3 =ell i i = il #720 FT=n, H oaa
[A) T1,200 7 & fin =0 a9
[C) ¥ o050
17. Findt
G4,
(A) 54 R
[C) 56 I z i LS ;
18. Ifthe income of A is 10% more than that of A} 54 B) 58
E and the income of B is 20°% less than of IC) 56 0] 52
C, then the incomes of A, B and C arein | 18. TEAF 2@ BH 10% =i 2 3 B F1 3@ C
the ratio : H 20% FHE A A, BTN CF =@ F oI 6
[A) 22:20-25  (B) 11:10:8 (A} 22:20:25 (B) 11:10:8
[C] 10:9:7 LR R (C} 10:9:7 D} 22:18:25
Nl M O A AOW 3¢ s e O % PO MRS B ¥ 7800 B
ey spe a ir incomes
reapectively. If the ratio of their monthly = H 90% T 80% w wa ¥ A
savings is 3 : 4, what are their monthly WfeE T 3 - 4 1 F T A a1
incomes ? (A} ¥ 3000, T 2500 (B) T 4000,T 3500
{A) ¥5000,% 2500 [B) ¥4000,% 3500 {C) ¥5500, T 2000 (D} ¥ 4500, T 3000
[C) ¥5500,% 2000 (D) T4500,% 3000 20. w72 F D W A o v S T e
20. Th:numb:r'??iﬂl:ﬁh"ii’sﬂiilltﬂt“’ﬂpﬂltkﬁuﬂl mim@mﬁzmﬁma|ﬁmm
that 20% of one part is equal to 25% of the T
other part. Find the two parts. (A) 40,32 B 50,22
[A) 40, 32 B 50,22 x *
[C] 48,24 D) 60,12 1) a8 B 60, 12
|
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2]1. What principal will amount to ¥ 747 in 6 [21. 11% ST I F1 7 A3 6 90 F 2747 F fom
years at the rate of 11 % per annum ? T TR T E
[4) T 500 B ¥425 (A) ¥ 500 {B) T425
[C) 450 o} ¥ 600 (C] ¥450 D) %600

22. Find the missing number in the following | o0 FrfEfmy Fa 4 79 weEn 79 T
series
4,18 ......... 100, 180, 204, :,1.1335 """" 1, 13&]{;9:6
(&) 32 B 36 (C) 48 D} 40
[C] 48 D) 20

0.01 + J0.0DE4
o JUEEIT T_ # goiwes
o 1A 1 B 10
(A) 1 (B) 10 (C] 100 D) 1000
” EJ LTM - 8] tlmsu x ne | 2% wE S #, P, ¥ 600, 4 9 F A fEn Fa
- a CEE INvests T 4 months
: fam L
and ) investa € 800 for 2 months. Ratio of rq,;&mﬁ,?%iﬁﬁ; sahpm™Q
the share of profit of P and Q) is Aﬂ:wt g '2 .
[A) 3:4 B 2:1 = — -—:.Gi 3_:2 r;iﬂ-a
[C) 3:2 ¥ = = =i - il
25. Wfa-b= 1, then [a £ _.:_-qEH-“—h—I. |a’- b — 3ah) = 7
K ¥ =W -3 B -1
(A) -3
€] 1 (€l 1 ) 3 _

5. B anen-and 17 aaci'r:uqa‘rqﬁi_ﬁmm'lgﬁafﬂ!m%u
work in O days = T FH F T\ @ oF =E g I
time to do the : =i FeR &1 1 OFA 17
many days 12 men

1
(A} 103
2=
[C) 18 daya
iﬁmﬁt

27, Wx=7
Al 3.3 14 PR3 D} 14
[C] 14+8.f3 o 14 28. o9 F Fi 690 o e @9 T T4 12, 18,21

28. Which of the following is the largest number ? g 28 § fawiad U W gHE w7y T
[A] 20% of 200 B 7% of 500 (A} L1019 (B] 10081
[C) 1300% of 3 O} 600% of 7 IC) 10059 (D] 10289

20. Find the least five digit number which on | 20 feefeT 9 9 =9q 25 oo F9-m 27
divided by 12, 18, 21 and 28 leaves the same {A) 200%120%  (B) SO0 T%
remainder, SO0
[A] 11019 [B] 10081 ic) .'!'nﬁ‘rl.'iﬂﬂ%_ e
[C) 10059 (D} 10280 30. 3R 6 =M B Yz ufar TR WH 0w waw 4

30. If 6 persons working 8 hours a day carn 8400 FA ¥ 7 9 T 6 v WA T T
T B400 per week, then 9 persons working 6 o wEw | FEm-
hours a day will earn in a week (A} ¥ 5400 B] 16300
[A] ¥ 5400 B T 16800 IC} T 9450 D T 16200
[C] T 9450 o) T 16200 3l. wweE F o ofd=EEs-weE F SEEEE WS

31l. Indian ruler, contemporary of Queeen =
Elizabeth-1 of England, was (A} =y (B} wE=w
{A) Akbar {B) Shahjahan dira e
[C) Aurangzeb D) Bahadur Shah () (D}

|
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33,

37

41.

42

Who is the brand ambassador for ‘Beti Bachao | 33, 7famm 938 T 99 woa” =509 F e @
Beti Padhao’ Campaign in Haryana ? T FR i
(A) Sushil Kumar 2
(B) Juhi Chawala (A) T FAR (B A =
[C) Parineeti Chopra (C) T = (D) feEn =
(D) Privanka Chopra _ 33 AT TmIRwWE?
::].I-u;l': of the fl:!-]lnwmg is laughing gas? IA) e wiEEnE [B) T HesEEE
itrous Oxide 2 i
[B) Carbon monoxide [{nd} Himlﬁmplmm
[C) Sulphur dioxide 3 FTroEmAm A d T im e 7
(D] Hydrogen peroxide . . iA) fEom (B) ==%m
':‘I?lel';mh district is in the adjacent of Morni (C) Fram (D} =
m 35. T & A A A
[A) Hisar [B] Panchkula
[C) Karnal [} Panipat IA) TR (B} T
Accounts of the states are controlled by the: (C) 773 T3 =f=9 (D) TR wa Hartea Wi
[A) Governor 36. T w1 HRE TR § S I = 6
[B) Chief Minister
[C) Btate Finance Secretary = =_ = _—-‘.‘” Bk Bl':;__-:
(D] Comptroller and 4 - o N D)
Which vegetable is gF cale = F1 v T T A W
Haryana?
[A) Potato a
(A} FIFH (B ¥&ET A3
[C) Tomato i 4 =
FPermanent hardpe e i D) =i wiz=
removed by adding G T e b o T = R
(&) chlorine 1 il
(8] washing soda & 8
[C) potassium 1t
(D) bleaching p
Which apice
[A) Blacl-;. Pepp
[C) Turpneric
LPG cons I
[A] methane, - TER B A
[B] ethane, LT
[C) methane T G : | £
(D) methane, butane and propanes {C} HCL (I HP
Which famous company at Pinjore hasbeen | 43, ag ¢ -
closed down by Haryvana Govt. ? i
[A) Deell [B) HMT (A) ! )
[C) HCL [DHP (C) TanE D) s
Air is afan 42. EfEm W R R F A w T R A T
(A) compourd (B| element =M E g
[C) electrolyte (D) mixture miET FEREE
Which city of Harvana is known as ‘City of (A) ; e
Weavera? (C) Fram D) A
{A) Mahendragarh [Bj Fatehabad 43. T= W WO oW E-
[C] Karnal (D) Panipat {A) THEE T (B fEirEs =
;s]ﬂlufma are filled with o (C] =T S (D) = o
nitrogen gas clium gas s
€} oxygen gas (D), argon gas 44 Efrarm F fF9 =F T WEH F [ 0 F a9
At which place of Haryana did Lord Krishna 3 o 7
preach the message of Geeta? (IEC G (B) =FMA
[A) Ambala [B] Sonipat e
[C) Tamuna MNagar [0} Kurukshetra it alass o

Haote
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45. The famous bronze image of "Nat.araja"ia a |45 ‘wgoE’ H wog ﬁﬁ TR TUCT 5
ﬁ"’fcmhm ple o i (A) = T (B) T o
Eg:!lﬂupta::t Egl} Mau.r]r:;na.a:t-t s abadadiy [D}'ﬁf!ﬁ"ﬂ

46. Which scheme is launched in Haryana for | 46- 19 5 9friiemn 7= #zfea & fau #famm § g=
welfare of poor girls? FmE
(A) Apni Beti Apna Dhan (A} 3T T T A
%m'&gmﬂb“;ﬁ {B) sl ¥ o Wa

Faraya ayi Z
(D) Indra Saheli Project IC) o ¥ wek 54

47. Which of the following metal was not (D) sfen =i e
present in coinage metal? 47. 5 9 T 9 o FhowT e Oy § aefed o
[A) Silver and Gold (B] Zinc and Gold w7
[C) Copper and Silver (D] Copperand Gold P 3

48. In 1947, when India was declared ) ﬁ HﬂT:ﬁ;ﬂ (5 xm;:
independent, which of the following states 15 fea e D) Fr Ty ,
mgapﬁnufﬂmana? 48, l%?#ﬁﬁﬁﬁmwmww.ﬁqw
{A) Delhi # & T\ THAm T vF ffem W P
(B} Himachal Pradesh ; = _ —{A) R B) fem== w&n
[C) Punjab e e : = S ;

(D) Jammu and Kasl == lc.l' = =0 ﬂ.}} f =

49. The main objective t TH T W P au |

[A] to maintain pagce (&) f3va H wifa Ta ek 998 v
world 4 (B) e, Fei fun afnin Fi AEET 3 Fon T
(B) to work toge to remove poverty, -

disease and illg
respect for cackh
freedom. |
[C] to develop £f
nations
O] All of the 4k
50. Which one "8
Territories todg

H E

acy and e

(4] Lalatym =-.ﬁ': kEx)
[C) New Delhi F‘ D

531. Which metal paliute the

[A] Copper
[C] Lead {0} Cadmium P
52. Which dance is performed on the occasion (A) it (5 wet 9
of worshipping gorapeer ? (C} YA [ e
{A] Manjeera (B} Chari Dance 53, FeAeFRo e TR ety
[C) Dhamal Dance (D} Jhumar Dance (A} T (B frefags
33. Which of the following is the lightest metal? e =%
Vi e JE SatKsint 54 o T W E F mlﬁ?ﬁ F1 9 T A
[C) Lead {D} Silver i =
54. What is considered as the main dialect of - e 7
primarily Haryanavi language ? (A} Freh B} =i
[A) Kauravi B Pali (C) =it Dy fofam
[C) Bhojpuri M) Mixed AR T AT
35. Which of the following metals remain in s T ﬂ'gfﬂlﬂ: g o
liquid for under normal conditions? E'I'ﬂ'l
[4) Radium (B] Zinc (A) =T By =2
[C] Uranium (D Mercury () TR (D) =mm
36. How many Mational Parks are in Haryana ? | 55 mﬂﬁmmmi?
(A 1 B 2 (A} 1 B 2
[c] 3 oy 4 iC} 3 D) 4
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57.  Which of the following is an clement? 57. fEm AW eom o 7 5
(4) Fuby (B} Sapphire () AfE [B) e
[C) Emerald (D) Diamond (C) = M) #m
58. PBirbara wildlife sanctuary is in which
district? 58, Hmam FEEA wnEeeg faa fad g § 7
[A) Jind (B Kaithal (A} =T B ¥
[C) Bhiwani [0} Rohtak (C) TRamT (D) TEAE
9. 'I‘_I::H:crfa—catta plough of the Harappan | 59, ggom ovm F7 o531 M2 T 79 F6 @ 7907
i ation was found at HETaEs T
[A) Mohenjo-daro |B] Banawali A) 1 B} A
(C} Kalibangan (D) Lothal (C) Frefr (D) ==
&0. Mosat important river of Haryana is 60. T T F w0 e A w7
[A) Yamuna [B] Ghaggar (A} TH (B) ==
(C) Markand (D) Sarswati iC) wram= (D) wod
Bl m}:ﬁ:";ﬁ’:ﬁ;hMEMth“m 61. E FrE T AT W e W e e
[A) Non-Cooperation Movement FffE A o i
(B} Civil Disobedience Movement |A) sPeEEm SR
{C) Khliafat Movement _ = |= =B ufEm =EFA
(D} Quit India Moveme#it = — : () fmEd s
G2, Which of the fol l-. T imﬂﬁﬂﬁﬁm
Haryana ? P A 4
{A) Jhjjar P A @ T W e T & S5 S
(C) Meerut (B) e
63. Which one of t T
Heritage® site ? g &7
[A) Nanda Devi Big
[B) Corbett Natiopgl ]
[C) Rajaji Natio
(D) Gir Forest &
&4.  In which distrigt
Lake’ situated: L
[A) Hisar
[C) Sirs} .
63 Who p
Lok-Sabha an W i oA
[A) President of India ) ’ | 1 = }
(B} Wice Presid A) T w ae [B) #ma F1 =weafa
(D) Prime Minister .
6. Which is the hottest and coldest district of | 56 FITW 1 594 1 3ft Fwm foem &
Haryana ? (A) feam (B] e
[A) Hizar [B) Kurukshetra (C) FREE (D) f==
[C) Faridabad (D) Jind 67. ARAR F1 7T Sfeey TEAH A SH o § 7
67. Who has been elected as the first female A F wiogg ST
President of Taiwan ? :E"} ::;ﬁ_i&_ai E 1{-{ 'FTEE‘-'-I
[A) Tei Ghi-wen By Vei-Mi-kuo T
(C]Mao Chi-kuo (D) Tsai Ing-wen 68, FIEE w1 9 Hm wiE wraae §id v v
G6B8. When the firat Mega Power Plant is ?
established in Haryana ? A} 2007 (B} 2008
[A) 2007 B 2008 1C) 2009 O 2010
[C) 2009 Oy 2010 69. WfFE S ESCAP 4 T WA AEm &1 5
69, The headguarter of ESCAP Economic and A -
Social Commission for Asia are situated at o
A) e
{A) Banghkok (B] Geneva (A) 3 ()
(C) Santiago (Chile) (D) Baghdad () FEram () (D) =
|
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70. In Haryana 'Mhara Gaon — Jagmag Gaon * | 70, 7R 3 #n 519 =09 79 S 39 3 F108 2
sctemr Immchicr. o {A) 1 97E 2015 (B 1 WA 2015
[A) lstJuly 2015 [B) lst August 2015 (C} 3™ 2015 (B) 10 =A% 2015
[C) 3rd May 2015 (B) 10thJuly 2015 5 i -
71. At the time of first census conducted in | 71 i H AEe ST e S TR S o
India, the name of the British Governor was Fm 'ii?
{A) Lord Dufferin iA) FiE =wfe
(B) Lord Mayo (B) =g o5
(€] Lord Lytton (C) ¥ Fg=m
(0] Lord Curzon (D} 7 Few
71 Aticle 14 of the Indian constitution | 72, g 99 F1 =99299 14 SOEE 0] 51 o
guarantaces Indian citizens : i
[A) Equal protection of laws =
[B Equality before law (A) T F wA e
[C) Equal distribution of economic (B) =TT WRE wHED
resources (C) =nflF =¥ F wAF 59m
(D) Equality before law and equal protection (D} FrE ¥ 9% SRET Am FE FoOEE T
of the laws : . - = B iﬂ;
73. “Dynamite’ was inven : 173 ‘" T TSR R
(4) Sornsen 1 =) g
(B) Edward (B
[C] Joseph Aspdi i THMAE
(D) Nobel !
T4. Waorld Hepatitis Da &7
{A) 18" July
[C) 285 July
75. In which year, T wan e E— - (i 4
e : : e v e
(8] 1921
[C) 1922
(D) 1923
Th. The Ind Al ;
Jubilee in - T T e
(A] 1962 &%
fC) 1982 = - = . .
77. ‘Which district of Haryana is known as the | 77- #H4m ® e w1 F E e A
Bowl of Rice ? = = §7
[4) Pamipat [B] Karnal (A} T [B) =
[C) Sonipat [y Panchkula (C) | D) 2=9E
78. The candidate for the Officer of the ¢ e T o
president of India must be sponsored by at T ey , Fi ® v
ennk, @ =rn =ufew 0 7 F9
[A] Ten electorates B Twmity clectomirs 1A) 31 FErE 5 (B} ¥ A= 5w
[C) Five electorates (D) Fifty electorates (C) 9= fEEFi gm (D) w9 FEfEE 5w
79. MNational Rescarch Centre on Equines | 7o, 5 9§ 99799 7570 a994m =5 (NRCE) TFq fav
[NRCE) lecated in the district of- Ay 7
[A) Sirsa [B] Hisar
[C) Rewadi D} Bhiwani 1A) T () e
BO. The Uprising of 1857 was described as the (C) Tt (D} PErr
first Indian war of Independence by 80. 1857 F1 Fid F fFus 3w WA T 9@ =R
[A) 8. N. Sen oA YA T T -
(B} R. C. Majumdhar |A) v T (B) smL @ WEER
[C) B. G. Tilak 5 T
(D) V. D. Savarkar ) . = fews D) 3. =
|
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B (W, W 81 W 82 ) FI=EITEA W 91 9eagas | Directions (Q. Nos. 91 - 93) Select the correct
e B B Indirect speech for the following questions.
' ' . 91. He said, “1 am reading my book.”™
{A} He told that he is reading his book
A A AT F TP F o A {B) He told that he was reading his book
muaﬁmmm?ﬂmmmﬁ {C) He said that he was reading his book
fom wiw o T W= e @), fam wee ¥ e e {D} He said that he is reading his book
F3-49 Fit T 9FR-uFR Fropp oow wigmm F | 920 He said, T am going to my house.”
TR - et (A} He told me that I was going to my house
o, ﬁ!?‘?wiﬁ i ks i i (B] He told me that he was going to my
A _;ﬁl ?ﬁm & i " house
Fort i 3 -3 0 forn 2 9, o e i A e {C) He told that he had been going to his
%1, Hi-9m ¥ Ap-vhe d mer-nee W= @ # T house
T T WA A T A=A E e ) A e s D} Et told me that he was going to his
R kR e GG HYEA ouse
ﬁ Em b it % #i A 93. She said to me, 1 thank you for the help
oA w1t T ow oW A9 owE fer o amE yous hidve given.”
wfifeafE 1 2y T S A @ oFA T A {A} She told me that she thanked me for the
FA= T T A help I had given
g1, mmﬂmﬁmmwmwt? —{H) S;u: thanked me for the help 1 have
Our= '_- =2 = E ven
Eg:; T Hl]} She thanked to me for the help [ have
gt = a3 iven
B2, W= ) HERTEMA A o £ 7 iD} She thanked me for the help [ had given
(A) Wm-fol T actions [94-95) : Choose the most suitable
[C) T F for the fulln‘u.nng questions.
* ogec "She can meet me wherever
B3, AOTREEE WF F T w1
[A) TR H S } i’
[B) ¥z T=7 77 1 0 -
[C) fa: T
(o) wrﬁ-*“&q A
B4 'WH" F = TR )
[A] THE ubject
[C] o=
85. iy FMA
[A) aTETTE pose the appro-
[C) s hlankn for these ques-
. il bs 5 9. -In the month of December the temperature
A T B = falls.... 4 C.
[C) Fx o ¥ {A) from {B] below
B7. T TR T=E T (C) at D} into
[A) aEr-T9En B m_ﬂa'r{ 97. The will go to Bengaluru... plane.
[C) SEE-mE (D} =FH-TEM :‘é; ;‘r“ ?Si o2
B8. e ¥ wAIE W R e W i Directions [98-100): Fill in the blanks with most
[A) ¥ appropriate auxiliary verbs fmodals.
(B Froem vd Eam-wi=aaat=Ea 98. The door......painting
(C) %= & Temmen oe fawm & A A} must (B] needa
(D) = aig (C} ought to D) may
g0, F-mA=E TR L7 99. The wound.... not heal inspite of all the
- (A = | T treatment he had.
(C) e o) e {0) abat =y
90. ‘THR’ WR W T 100. I.........smoke but I gave it up last year.
[A) T [B) (Al need B will
iC) = oy T IC} used to (D} can
|
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